
=$5= '=(1,(��1U�������������%850,675=$��67 325.2:$��] GQLD����PDMD�������U��� Z VSUDZLH�SU]H]QDF]HQLD�GR�VSU]HGD \ QLHUXFKRPR FL�� VWDQRZL F\FK�ZáDVQR ü JPLQ\���
1D� SRGVWDZLH� DUW�� ��� XVW��� � XVWDZ\� ]� GQLD� �� PDUFD� ����� U�������������������������R VDPRU] G]LH�JPLQQ\P� ��']��8�� ]������ U��1U������SR]�������]H� ]P���� DUW����XVW����DUW����XVW�����DUW����XVW�����XVWDZ\�]�GQLD����VLHUSQLD�����U�R�JRVSRGDUFH�QLHUXFKRPR FLDPL���']��8��]������U��1U�����SR]�������]H�]P�����8FKZDá\�5DG\�0LHMVNLHM� Z� 6W SRUNRZLH� 1U� ;;;���������� ]� GQLD� ����������U�� Z� VSUDZLH�RNUH OHQLD�]DVDG�QDE\ZDQLD��]E\ZDQLD� L�REFL DQLD�QLHUXFKRPR FL�JUXQWRZ\FK�RUD]� LFK� Z\G]LHU DZLDQLD� L� QDMPX� QD� RNUHV� GáX V]\� QL � ODWD� �� ']�� 8U]��:RMHZyG]WZD� ZL WRNU]\VNLHJR��1U�����SR]�������]�����U��1U������SR]���������]DU] G]DP��FR�QDVW SXMH��������� � ��� 3U]H]QDF]D� VL GR� VSU]HGD \ Z� IRUPLH� SU]HWDUJX� XVWQHJR�QLHRJUDQLF]RQHJR� � QLHUXFKRPR ü JUXQWRZ SRáR RQ Z PLHMVFRZR FL� -DQyZ�R]QDF]RQ QXPHUHP�������R�SRZ��������KD��� � ���:\NRQDQLH� � � ]DU] G]HQLD� � � SRZLHU]D� � � VL 1DF]HOQLNRZL���:\G]LDáX� *RVSRGDUNL� 1LHUXFKRPR FLDPL�� 5ROQLFWZD�� 2FKURQ\� URGRZLVND����������������������������L ,QIUDVWUXNWXU\�7HFKQLF]QHM��� � ���=DU] G]HQLH�ZFKRG]L�Z� \FLH�]�GQLHP�SRZ]L FLD����


